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=& {EE Bt -3

BB FWL (m)

LS EL (m)

=8 IKi%E : H=FWL-EL 2.3|(m)

WETKE:V 920((m3) 400m2 X 2.3m

B A E(Costa): Qp 24.47|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.1074|km2

/K ETE: A2 0.0004|km2 5 Ei8134m X 13m

r=a/(t"+b)

1 ARE AR HE

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 34|19 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 34(% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 131.1{(mm/h)

HKFEE—Y:Q 3.1|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 3.72|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
ol 2447 3.1 27.6
1 4.96 3.1 8.0
2 1.01 3.0 40
3 0.20 3.0 3.2
4 0.04 2.9 3.0
5 0.01 2.9 29
6 0.00 2.9 29
7 0.00 2.8 2.8
8 0.00 2.8 2.8
9 0.00 2.7 2.7
10 0.00 2.7 2.7
11 0.00 2.6 2.6
12 0.00 2.6 2.6
13 0.00 2.6 2.6
14 0.00 25 25
15 0.00 2.5 25
16 0.00 24 24
17 0.00 24 24
18 0.00 24 24
19 0.00 2.3 2.3
20 0.00 2.3 2.3

F-1 RHEGRBIERE RS ERC

F&-2 HOKEERR]

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0004 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.1070
7KH 100
M 200
E 70
‘it 0.1074
Taf I 289
IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0004 A FHEEH 720 M | P33
(L 0.80 | 0.1070
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.1074
Taf I 0.80

Z R HT-1

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 34.0 131.1 104.88 0.196 34.67 130.3 0.8
2 34.1 131.0 104.80 0.196 34.67 130.3 0.7
3 34.2 130.9 104.72 0.196 34.67 130.3 0.6
4 34.3 130.8 104.64 0.196 34.67 130.3 0.5
5 344 130.6 104.48 0.196 34.67 130.3 0.3
6 345 130.5 104.40 0.197 34.85 130.1 04
7 34.6 130.4 104.32 0.197 34.85 130.1 0.3
8 34.7 130.3 104.24 0.197 34.85 130.1 0.2
9 34.8 130.2 104.16 0.197 34.85 130.1 0.1
10 34.9 130.1 104.08 0.197 34.85 130.1 0.0
11 35.0 130.0 104.00 0.197 34.85 130.1 -0.1
=-3 HAKR=E - RIAESE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 34.0 131.1 131.1 131.1 3.1
2 68.0 101.9 203.8 72.7 1.7
3 102.0 84.5 253.5 49.7 1.2
4 136.0 72.7 290.8 37.3 0.9
5 170.0 64.1 320.5 29.7 0.7
6 204.0 57.5 345.0 24.5 0.6
7 238.0 52.3 366.1 211 0.5
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=& BB/ -3

BB FWL (m)

LS EL (m)

=8 IKi%E : H=FWL-EL 3.5((m)

#Erk=:Vv 2,100/(m3) 600m2 X 3.5m

RKHE(Costa): Qp 41.28|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0725|km2

/K ETE: A2 0.0006 |km2 IHhEHRI3Tm X 21m

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

W H R E EERFR:t 31|19 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 31| L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 134.7|(mm/h)

HKFEE—Y:Q 2.2|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 2.64|(m3/s)

L

A KEE

BAET/ith- BB £/ @ SR R

YOOUZ

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 41.28 22 43.5
1 12.69 2.2 14.9
2 3.90 2.1 6.0
3 1.20 2.1 3.3
4 0.37 2.1 24
5 0.11 20 2.1
6 0.03 20 20
7 0.01 20 20
8 0.00 1.9 1.9
9 0.00 1.9 1.9
10 0.00 1.9 1.9
11 0.00 1.8 1.8
12 0.00 1.8 1.8
13 0.00 1.8 1.8
14 0.00 1.7 1.7
15 0.00 1.7 1.7
16 0.00 1.7 1.7
17 0.00 1.7 1.7
18 0.00 1.6 1.6
19 0.00 1.6 1.6
20 0.00 1.6 1.6
~—

F-1 RHEGRBIERE RS ERC

THiDHRRE C | Hfi(km2) i &

pat:o¥iich 70 0.0006 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0719

7KH 100

M 200

E 70

aFt 0.0725

faf ES-25) 288

R LR/NI= f i F

i &

F&-2 HOKEERR]

Pat;akiii! 1.00 | 0.0006 A FHEEH 720 M | P33
(L 0.80 | 0.0719
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0725
faf ESF-25) 0.80

RT3

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 31.0 134.7 107.76 0.194 31.37 134.3 04
2 31.1 134.6 107.68 0.194 31.37 134.3 0.3
3 31.2 134.5 107.60 0.194 31.37 134.3 0.2
4 31.3 1344 107.52 0.195 31.53 1341 0.3
5 314 134.2 107.36 0.195 31.53 1341 0.1
6 315 1341 107.28 0.195 31.53 1341 0.0
7 31.6 134.0 107.20 0.195 31.53 134.1 -0.1
8 31.7 133.9 107.12 0.195 31.53 134.1 -0.2
9 31.8 133.7 106.96 0.195 31.53 1341 -04
10 31.9 133.6 106.88 0.195 31.53 1341 -0.5
11 32.0 133.5 106.80 0.195 31.53 1341 -0.6
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 31.0 134.7 134.7 134.7 2.2
2 62.0 105.9 211.8 771 1.2
3 93.0 88.4 265.2 53.4 0.9
4 124.0 76.4 305.6 404 0.7
5 155.0 67.6 338.0 32.4 0.5
6 186.0 60.8 364.8 26.8 0.4
7 217.0 55.4 387.8 23.0 0.4







F-1 RHEGRBIERE RS ERC

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.00150 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.08930
7KH 100
M 200
E 70
‘it 0.09080

faf ES-25) 286

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0015 A FHEEH 720 M | P33
(L 0.80 | 0.0893
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0908

faf ESF-25) 0.80

=& BHE T/t -3

BB FWL (m)

LS EL (m)

=8 IKi%E : H=FWL-EL 2.8|(m)

WETKE:V 2,520({(m3) 900m2 X 2.8m

RKHE(Costa): Qp 40.58|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0908|km2

/K ETE: A2 0.0009|km2 IHhEHBI43m x 21m

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

AR E B BF et 33|% Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 33|% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 132.3|(mm/h)

HKFEE—Y:Q 2.7|(m3/s)  [1/36-f-r-A

REHEKGREN.2Q 3.24|(m3/s)

BAET/ith- BB £/ @ iR R

=
——

e

K ETE

HEFR/ it
0-0908

Yooz

F&-2 HOKEERR]

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 40.58 2.7 411
1 15.44 2.7 15.9
2 5.88 2.6 6.4
3 224 2.6 2.7
4 0.85 2.6 1.3
5 0.32 25 0.8
6 0.12 2.5 0.6
7 0.05 24 0.5
8 0.02 24 0.5
9 0.01 24 0.5
10 0.00 23 0.5
11 0.00 2.3 0.5
12 0.00 2.3 0.5
13 0.00 22 0.4
14 0.00 22 0.4
15 0.00 22 0.4
16 0.00 2.1 0.4
17 0.00 2.1 0.4
18 0.00 20 0.4
19 0.00 20 0.4
20 0.00 20 0.4

LERER ERMOMKRELZELSIVTHEE

—

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 33.0 132.3 105.84 0.196 33.07 132.2 0.1
2 33.1 132.2 105.76 0.196 33.07 132.2 0.0
3 33.2 132.1 105.68 0.196 33.07 132.2 -0.1
4 33.3 131.9 105.52 0.196 33.07 132.2 -0.3
5 33.4 131.8 105.44 0.196 33.07 132.2 -04
6 33.5 131.7 105.36 0.196 33.07 132.2 -0.5
7 33.6 131.6 105.28 0.196 33.07 132.2 -0.6
8 33.7 131.5 105.20 0.196 33.07 132.2 -0.7
9 33.8 131.3 105.04 0.196 33.07 132.2 -0.9
10 33.9 131.2 104.96 0.196 33.07 132.2 -1.0
11 34.0 131.1 104.88 0.196 33.07 132.2 -1.1
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 33.0 132.3 132.3 132.3 2.7
2 66.0 103.2 206.4 741 1.5
3 99.0 85.8 257.4 51.0 1.0
4 132.0 73.9 295.6 38.2 0.8
5 165.0 65.2 326.0 30.4 0.6
6 198.0 58.6 351.6 25.6 0.5
7 231.0 53.2 372.4 20.8 0.4

Z I HT -5







=& IR/ it -3

BB FWL (m)

LS EL (m)

=8 IKi%E : H=FWL-EL 0.8{(m)

WETKE:V 800((m3) 1,000m2 X 0.8m

RKHE(Costa): Qp 14.81((m3/s)  |Qp=325(H-V)**?

JRigmiE:A 0.0043|km2

/K ETE: A2 0.00100|km2 5 E1i8143m x 25m

r=a/(t"+b)

1 F R = £181Fr A%

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

W H R E EERFR:t 12|14 RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 12|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 165.9{(mm/h)

HKFEE—Y:Q 0.2|(m3/s) |1/3.6+fr-A

REHEKGREN.2Q 0.24|(m3/s)

F-1 RHEGRBIERE RS ERC

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0010 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0033
7KH 100
M 200
E 70
‘it 0.0043

faf ES-25) 239

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0010 A FHEEH 720 M | P33
(L 0.80 | 0.0033
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0043

faf ESF-25) 0.85

F&-2 HOKEERR]

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
of 1481 0.2 15.0
1 4.88 0.2 5.1
2 1.61 0.2 1.8
3 0.53 0.2 0.7
4 0.17 0.2 0.3
5 0.06 0.2 0.2
6 0.02 0.2 0.2
7 0.01 0.1 0.2
8 0.00 0.1 0.1
9 0.00 0.1 0.1
10 0.00 0.1 0.1
11 0.00 0.1 0.1
12 0.00 0.1 0.1
13 0.00 0.1 0.1
14 0.00 0.1 0.1
15 0.00 0.1 0.1
16 0.00 0.1 0.1
17 0.00 0.1 0.1
18 0.00 0.1 0.1
19 0.00 0.1 0.1
20 0.00 0.1 0.1

ZLFE B

FrEmE O
K E A

Ny
(C) :I:i’@zi

i

6
SIP4_(€7C . (C

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 12.0 165.9 141.02 0.177 12.76 164.2 1.7
2 121 165.7 140.85 0.177 12.76 164.2 1.5
3 12.2 165.4 140.59 0.177 12.76 164.2 1.2
4 12.3 165.2 140.42 0.177 12.76 164.2 1.0
5 124 165.0 140.25 0.177 12.76 164.2 0.8
6 12.5 164.8 140.08 0.177 12.76 164.2 0.6
7 12.6 164.6 139.91 0.177 12.76 164.2 04
8 12.7 164.4 139.74 0.177 12.76 164.2 0.2
9 12.8 164.2 139.57 0.178 12.83 164.1 0.1
10 12.9 163.9 139.32 0.178 12.83 164.1 -0.2
11 13.0 163.7 139.15 0.178 12.83 164.1 -04
#-3 HKRE AIAEFE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 12.0 165.9 165.9 165.9 0.2
2 240 144.3 288.6 122.7 0.1
3 36.0 128.8 386.4 97.8 0.1
4 48.0 116.9 467.6 81.2 0.1
5 60.0 107.3 536.5 68.9 0.1
6 72.0 994 596.4 59.9 0.1
7 84.0 92.8 649.6 53.2 0.1

I W=7







=& = /fEith E&E

W B R KL FWL 39.5|(m)

LS EL 37.0{(m)

=8 IKi%E : H=FWL-EL 2.5((m)

#Erk=:Vv 3,591[(m3)

B A E(Costa): Qp 449|(m3/s)  |Qp=325(H-V)’*?

JRigmiE:A 0.0280|km?2

/K ETE: A2 0.0006 |km2

r=a/(t"+b)

1 ARE AR HE

[ERIsEE K n 0.85

ErREE R 7359.61

ErsEERX b 36.1
F-2Tri-r2hoh &

W H R E EERFR:t 14|45y RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 14|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 161.7|(mm/h)

HKFEE—Y:Q 10{(m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 1.2|(m3/s)

7

F-1 RHEGRBIERE RS ERC

THiDHRRE C | Hfi(km2) s &
pat:o¥iich 70 0.0006 A EHEE 7o 60 M i ) P33
(Lot 290 | 0.0134
7KH 100
M 200
£ 70 | 0.0140
‘it 0.0280

faf ES-25) 175

IR RE f [iafi-| i &
Pat;akiii! 1.00 | 0.0006 A FHEEH 720 M | P33
(L 0.80 | 0.0134
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0140
‘it 0.0280

faf ESF-25) 0.83

F&-2 HOKEERR]

i |[RER=E|BEKRE|LEXRRZ
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
0 4490 1.0 459

1 21.20 1.0 22.2

2 10.01 1.0 11.0

3 4.73 0.9 5.7

4 2.23 0.9 3.1

5 1.05 0.9 1.9

6 0.50 0.9 1.4

7 0.24 0.9 1.1

8 0.11 0.8 0.9

9 0.05 0.8 0.9

10 0.02 0.8 0.8

1 0.01 0.8 0.8

12 0.01 0.7 0.8

13 0.00 0.7 0.7

14 0.00 0.7 0.7

15 0.00 0.7 0.7

16 0.00 0.7 0.7

17 0.00 0.7 0.7

18 0.00 0.7 0.7

19 0.00 0.7 0.7

20 0.00 0.7 0.7

N} . Q

Z= A F| HT
T e

E*E%

=

o

FronEnm] AMAE |ERREEE| | JUKEESE _
t(4) ri(mm/h) re=f=r;(mm/h) re tc(min) 2 n
1 14.0 161.7 134.21 0.18 14.34 161 0.7
2 141 161.5 134.05 0.18 14.34 161 0.5
3 14.2 161.3 133.88 0.18 14.34 161 0.3
4 14.3 161.1 133.71 0.18 14.34 161 0.1
5 144 160.9 133.55 0.18 14.34 161 -0.1
6 145 160.7 133.38 0.18 14.34 161 -0.3
7 14.6 160.5 133.22 0.18 14.34 161 -0.5
8 14.7 160.3 133.05 0.181 14.42 160.8 -0.5
9 14.8 160.1 132.88 0.181 14.42 160.8 -0.7
10 14.9 159.9 132.72 0.181 14.42 160.8 -0.9
11 15.0 159.7 132.55 0.181 14.42 160.8 -1.1
=-3 HAKR=E - RIAESE
t r In Q
" (min) (mm/h) nr (mm/h) | (m3/s)
1 14.0 161.7 161.7 161.7 1.0
2 28.0 138.6 2717.2 115.5 0.7
3 42.0 122.5 367.5 90.3 0.6
4 56.0 110.3 441.2 73.7 0.5
5 70.0 100.7 503.5 62.3 0.4
6 84.0 92.8 556.8 53.3 0.3
7 98.0 86.2 603.4 46.6 0.3

Z I HT-9
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